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¢ ) 3e(APT) Be( AIY) =(2x%—%) mol + L
¢ AI') =2b3;cmol° L.
2 .
’ c(AP*) =0.3 mol * L™" ¢(S0>") =0.7 mol *
L™ o(H") =10""mol « L' ¢(K")
( ) -
A.0.15 mol * L' B.0.2 mol * L'
C.0.3 mol * L' D.0.4 mol + L'
1.\ ¢(H") =10""mol « L'
¢(OH™) =10 "mol * L™
c(H") =
« 0.1 mol « L' c(Al'") x3 +
_ y o(H*) +¢(K") =¢(SO:7) x2+¢(OH) c(K™)
~0.4 mol * L',
1.
2. ( )
1 a L AL(S0,), (NH,),S0, ?
b mol BaCl, S0:- A
; ¢ mol NH,
AP (mol* 1Y) (). (1) -
A.szac B.2ba c (2) _
2b-¢ 2b-¢ !
c. 3a D- 6a (3) =
¢ mol NH, NH,
cmol  SO;° Ba** b mol S0;”
b mol. 0 2¢(S0;7) =¢(NH;) +
» C @) ©® C : D B
Al
D D
C.
DD Li.P.Na.N 0
5® 0.Mg.Cl.B A B :
@ © Na, O Na, O, .
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n( ) X X
(- =l ) x
x ( - )
2.
3 dclo,
clo, Cl,
. NaClO,  Na,SO,
H, SO0, Clo,
NaClO;  Na,SO, ( ).
A l1:1 B.2:1
C.1:2 D.2:3
NaClO, Na, SO, clo,
Na, SO,

n( NaClO,) x1 =n(Na,S0,) x2
n( NaClO,) : n( Na,SO;) =2: 1.
4 N

NO
3mol « L' NaOH

5.1¢g
A. NaOH

B. 0.1 mol
C. 16.4 ¢
D. NO 22.4 L

~

NO :
3Mg +8HNO,( )=—
3Mg( NO;) , +2NO 1 +4H,0
3Cu +8HNO,( )=—
3Cu( NO,), +2NO T +4H,0
3 mol * L.”'NaOH

Mg( NO,) , +2NaOH ==Mg( OH) , | +2NaNO,
Cu( NO,) , +2NaOH Cu( OH) , | +2NaNoO,

5.1¢g

5.1¢
5.1 g/17 g+ moL.™' =0.3 mol
0.3 mol/2 =0. 15 mol

0.3 mol NO 0.3 mol/(5-2) =
0.1 mol. N
NaOH 0.3 mol
NaOH 0.3 mol/3mol *L™'=0.1L
=100 mI. A :
8 8
n (HNO3):?Xn( ):?XO.ISmolz
0.4 mol B :
0. 15 mol 0. 15 mol x
24 g+mol™' =3.6 ¢ 0. 15 mol x
64 g+-mol.”' =9.6 ¢
(m) 3.6g<m<9.6¢g C ;
NO 0.1 mol x22.4 L +moL™" =2.24 L
D
5 Pt 7n
0,-H" 7Zn’*
(1)
(2)
Li-1
10 :
2Li + 1, ==2Lil
LlI f) ( “ ” “ ")
(1)
0, +4H" +4e =—=2H,0;
27n —4e 27n"
(2) (210 - 2e =—=21i" L
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